2.1 Proof of the asymptotics for 4, (ie. Final step of the Proof of Prime Number Theorem) Denote $F(s) = \frac{x^{s+1}}{s(s+1)} \left(-\frac{s(s)}{s(s)}\right)$ where x fixed (& suff. large) say $z \ge 1$ Then $\operatorname{Rup}_{2,3} \Rightarrow \forall C>1$, $\Upsilon_1(x) = \frac{1}{2\pi i} \int_{-2\pi i} F(s) ds$ $I+iR \qquad C+iR \qquad (R \rightarrow +\infty)$ $I-\delta+iT \qquad I+iT \qquad (R \rightarrow +\infty)$ $I-\delta \qquad 1 \qquad C-iT \qquad (R \rightarrow +\infty)$ Consider the contour

where $T \ge 3$ and $5 \ge 0$ is chosen (depending on T) such that $\Im(s) \ge 0$ along the interval. This can be done since $\Im(s) \ge 0$ \forall $\operatorname{Re}(s) \ge 1$ (Thm 1.1 \ge 1.2) By Prop 2.7(ii) in Chb and Prop 1.6 in Ch7, $\forall \varepsilon \ge 0, \exists c_{\varepsilon} \ge 0$ sit $|\Im(s)| \le c_{\varepsilon} |t|^{\varepsilon}$ and $(\forall \sigma \ge 1 \ge |t| \ge 1)$ $\frac{1}{3}(s_{\varepsilon})| \le c_{\varepsilon} |t|^{\varepsilon}$

Hence
$$\forall \gamma > 0, \exists A > 0$$
 s.t.
 $(t), |\frac{\Im(s)}{\Im(s)}| \leq A|t|^{\gamma} \quad \forall \sigma \geq |a|t| \geq |$

$$|F(S)| = \frac{|x^{S^{+1}}|}{|S(S^{+1})|} \left| \frac{S(S)}{S(S)} \right|$$

$$\leq x^{C^{+1}} \cdot \frac{|x^{S^{+1}}|}{|S(S^{+1})|} \left| \frac{S(S)}{S(S)} \right| \leq A' |t|^{-2+\eta} \qquad \text{for some } A' > 0$$

$$(A' indep. of S)$$

$$\Rightarrow \left| \int_{C+\bar{c}R}^{1+\bar{c}R} F(s) \, ds \right| \leq A' R^{-2t\eta} (C-1) \rightarrow 0 \quad as \quad R \rightarrow 0s$$

and
$$\left| \int_{1-iR}^{C-iR} F(s) ds \right| \leq A' R^{-2+\gamma} (C-1) \rightarrow 0 \text{ as } R \rightarrow \infty$$

etting
$$R \Rightarrow 60$$
, Residue formula \Rightarrow

$$\operatorname{res}_{S=1} F(S) = \frac{1}{S\Pi_{1}} \int_{C-1\infty}^{C+1} F(S) dS - \left\{ \begin{array}{c} \frac{1}{2\Pi_{1}} \left(\int_{1-\delta_{1}}^{1+i\infty} + \int_{-1\infty}^{1-iT} \right) F(S) dS \\ + \frac{1}{2\Pi_{1}} \left(\int_{1-\delta_{1}}^{1+iT} - \int_{1-\delta_{1}}^{1-iT} \right) F(S) dS \\ + \frac{1}{2\Pi_{1}} \int_{1-\delta_{1}}^{1-\delta_{1}} F(S) dS \end{array} \right\}$$

By Cor26 of (h6,

$$S(S) = \frac{1}{S-1} + H(S) \text{ near } S = 1 \text{ with field } H(S).$$

$$= -\frac{S(S)}{S(S)} = \frac{1}{S-1} - \frac{H(S) + (S+1)H(S)}{(+(S+1)H(S)}$$
The Golds near $S = 1$

$$\therefore \text{ Yies}_{S=1} F(S) = \text{ res}_{S=1} \left[\frac{X^{SH}}{S(S+1)} \cdot \left(\frac{1}{(S-1)} - H(S) \right) \right]$$

$$= \frac{X^{2}}{2}.$$

$$\therefore H_{1}(X) = \frac{X^{2}}{2} + \frac{1}{2\pi i} \left(\int_{1+i\pi}^{1+i\omega} + \int_{1-i\pi}^{1-i\pi} \right) F(S) dS$$

$$+ \frac{1}{2\pi i} \left(\int_{1-\delta + i\pi}^{1+i\pi} - \int_{1-\delta - i\pi}^{1-i\pi} \right) F(S) dS + \frac{1}{2\pi i} \int_{1-\delta - i\pi}^{1-\delta + i\pi} F(S) dS$$

Since we care only the limit as $X \rightarrow too$, we may assume $X \geq 2$ in our estimates.

(i)
$$\left| \int_{|t|T}^{|t|} F(S) dS \right| \leq \int_{T}^{\infty} \frac{|\chi^{2+it}|}{|(t+it)(2t+it)|} \left| \frac{S(t+it)}{S(t+it)|} \right| dt$$
$$\leq \chi^{2} \cdot \int_{T}^{\infty} \frac{1}{|t+it||^{2+it}|} \cdot A|t|^{\frac{1}{2}} dt \quad (take \ \eta = \frac{1}{2} \ m(t)_{r})$$

Clearly the integral converges and there

$$\forall \varepsilon > 0$$
, $\left| \frac{1}{2\pi i} \int_{1+iT}^{1+iG} F(s) ds \right| \le \varepsilon \frac{x^2}{2}$ for suff. large T.

Some argument
$$\Rightarrow$$

 $\forall \epsilon > 0$, $\left| \frac{1}{2\pi i} \int_{1-i\infty}^{1-iT} F(s) ds \right| \leq \epsilon \frac{x^2}{2}$ for suff. large T .
(ii) $\left| \frac{1}{2\pi i} \int_{1-5\pi iT}^{1+iT} f(s) ds \right| \leq \frac{1}{2\pi i} \int_{1-\delta}^{1} \frac{1}{|\sigma^{+i}T|} \frac{1}{|\sigma^{+i}T|} \frac{1}{|\sigma^{+i}T|} \frac{1}{|\sigma^{-i}T|} d\sigma$
 $\leq \frac{1}{2\pi i} \int_{1-\delta}^{1} \frac{x^{1+\sigma}}{T^2} A^{T^{\frac{1}{2}}} d\sigma$ $(\eta = \frac{1}{2} in(t))$
 $= C_T' \int_{1-\delta}^{1} x^{1+\sigma} d\sigma = C_T' \int_{1-\delta}^{1} e^{(t+\sigma)\log x} d\sigma$
 $= C_T' \left[\frac{e^{(t+\sigma)\log x}}{\log x} \right]^1 \leq C_T' \frac{x^2}{\log x}$
 $(x \ge 2 \Rightarrow \log x \ge \log 2 > 0)$
Silvalarly $\left| \frac{1}{2\pi i} \int_{1-\delta+iT}^{1-iT} F(s) ds \right| \leq C_T' \frac{k^2}{\log x}$ for some const.
 $C_T > 0$.
(ii) $\left| \frac{1}{2\pi i} \int_{1-\delta+iT}^{1-\delta+iT} F(s) ds \right| \leq \frac{1}{2\pi i} \int_{-T}^{T} \frac{(x^{1+(t-\delta)+iT_1})}{(t+i)t+1|2\delta+iT_1|} \left| \frac{s'(t+\delta+iT_1)}{s(t+\delta+iT_1)} \right| dt$
 $\leq \frac{1}{2\pi} \int_{-T}^{T} \frac{x^{2-\delta}}{(t-\delta+iT_1)|2\delta+iT_1|} \left| \frac{s'(t-\delta+iT_1)}{s(t-\delta+iT_1)} \right| dt$
 $\leq C_T x^{2-\delta}$ for some const. C_T

$$|| \sum_{l=1}^{||} \left| \frac{1}{2\pi i} \int_{l=\delta+iT}^{l+\sigma} \frac{1}{\tau} \int_{l=\delta}^{l} \frac{1}{2\pi i} \int_{l=\delta}^{l} \frac{1}{2\pi i} \int_{l=\delta}^{l} \frac{1}{2\pi i} \int_{l=\delta}^{l} \frac{1}{2\pi i} \int_{l=\delta}^{l} \frac{1}{\tau^2} \int_{l=$$

$$= C_{T} \int_{I-\delta}^{I} X^{I+\sigma} d\sigma = C_{T} \int_{I-\delta}^{I} e^{(I+\sigma)\log X} d\sigma$$

$$= C_{T}' \left[\frac{e^{(1+\tau') \log x}}{\log x} \right]_{1-\delta}' \leq C_{T}' \frac{\chi^{2}}{\log x}$$
$$(\chi \geq 2 \implies \log x \geq \log x \geq \log 2 > 0)$$

Similarly
$$\left| \frac{1}{2\pi i} \right|_{1-\delta-i\tau} F(s) ds \leq C_{T} \frac{\chi^{2}}{\log \chi}$$
 for some const.
 $C_{T} > 0$.

$$\begin{aligned} \text{(III)} \quad \left| \frac{1}{2\pi i} \int_{I-\delta-iT}^{I-\delta+iT} F(S) \, dS \right| \leq \frac{1}{2\pi} \int_{-T}^{T} \frac{|x|^{I+(I-\delta)+it}|}{|I-\delta+it||^{2-\delta+it}|} \left| \frac{S(I-\delta+it)}{S(I-\delta+it)} \right| \, dt \\ \leq \frac{1}{2\pi} \int_{-T}^{T} \frac{x^{2-\delta}}{|I-\delta+it||^{2-\delta+it}|} \left| \frac{S(I-\delta+it)}{S(I-\delta+it)} \right| \, dt \\ \leq C_{T} x^{2-\delta} \quad \text{for some const, } C_{T} \end{aligned}$$

(depending on T, 5 and hence depending on T as 5 is chosen according to T)

Hence $(i)_{(i)} \ge (i)_{(i)} \ge (i)_{(i)} \rightarrow \forall \in \mathbb{N}_{0}, \exists \delta > C_{\tau} \ge C_{\tau}$ s.t.

$$\left| \frac{Y_1(x) - \frac{x^2}{z}}{z} \right| \leq 2\varepsilon \frac{x^2}{z} + C_T \frac{x^2}{\log x} + C_T x^{2-\delta} \qquad \text{for sufficiently large } T$$

Heure $\left|\frac{2\Psi_{i}(x)}{x^{2}}-1\right| \leq 4 \varepsilon$ for sufficiently large x,

i.e.
$$f_1(x) \sim \frac{x^2}{z}$$
 as $x \to \infty$.

This completes the proof of the prine number therem. X

Sume authors call a holomorphic map f: U→V conformal
 if f(z) = 0, ∀z ∈ U, not necessary bijective (globally)
 (In this course, we'll follow Textbook's convention.)

Pf of Propl.1 Suppose on the contrary that f(zo)=0 for some zo EU. Then $f(z) - f(z_0) = \alpha(z - z_0)^k + G(z)$ near z_0 where ato, k= 2 and G vanishing to refer kt/ at zo. $\left(ie. \frac{|G(z)|}{|z-z_0|^{k+1}} \le C \text{ near } z_0\right)$ Consider w=0 with IWI sufficiently small Then $f(z) - (f(z_0) + w) = \left[\alpha (z - z_0)^k - w \right] + G(z)$ = F(z) + G(z)where $F(z) = \alpha(z-z_0)^k - w$ Then • |F(z) > (G(z)) on a sufficiently small circle centered at Zo • k≥z ⇒ F(z) has at least 2 zeros inside that circle. Rouchés Thue $\Rightarrow f(z) - (f(z_0) + w)$ has at least z zeros there too. Since f'is hold & hence to is an isolated zero. We may assure, by choosing a smaller circle, that f(z) = 0 V z insides the circle except z = zo.

For the 2nd statement, let
$$g = f^{-1} = f(U) \rightarrow U$$

(Open mapping theorem (Thm 4.4, ch3) => G is contained)

Suppose that wo ef(U) and w close to wo, but w + wo.



Then IZ& ZOEU S.t. W=f(Z) + Wo=f(ZO).

Hence
$$\frac{g(w) - g(w_0)}{w - w_0} = \frac{1}{\left(\frac{f(z) - f(z_0)}{z - z_0}\right)}$$

Since fless = 0, we have

$$\begin{aligned} \lim_{W \to W_0} \frac{g(w) - g(w_0)}{W - W_0} &= \frac{1}{\lim_{Z \to Z_0} \left(\frac{f(z) - f(z_0)}{z - z_0}\right)} = \frac{1}{f'(z_0)} \quad \text{exists} \\ \frac{g}{z} \frac{g}{z} \frac{f(w_0)}{z} &= \frac{1}{f'(g(w_0))} \quad \text{exists} \end{aligned}$$

Re

Remark: If
$$f: U \Rightarrow C$$
, $z_0 \in U$, and $f(z_0) \neq 0$.
Then f preserves angles at z_0 .
The precise formulation is:
Let $\gamma = \eta$ be two (smooth oriented) curves intersecting
at z_0 , then the angle from the curve for
to the curve $f \circ \eta$ at $f(z_0)$ equals the angle
from the curve γ to the curve η at z_0 .
 $\gamma = 0$ $\gamma = 0$ $\gamma = 0$ $f \circ \gamma$
 $f \circ \eta$ $f \circ \eta$ $f \circ \eta$ $f \circ \eta$
(Problem z on page 255 of the Textbook.)
Hence
conformal maps preserve angles

$$\frac{\text{Thm } 1.2}{z} : \text{The map} \quad F : \mathbb{H} \to \mathbb{D}$$

$$z \mapsto \frac{u}{z+z} \quad \hat{u} \text{ a conformal map}$$
with inverse $G = F^{-1} = \mathbb{D} \to \mathbb{H}$

$$w \mapsto \hat{u} \stackrel{U}{\mapsto} \frac{u}{t+w}$$

 \swarrow

Findly
$$F(G(w)) = \frac{\lambda - \lambda + w}{\lambda + \lambda + w} = w$$

$$A = G(F(z)) = \lambda \cdot \frac{1 - \frac{\lambda - z}{\lambda + z}}{1 + \frac{\lambda - z}{\lambda + z}} = z$$

$$\frac{\text{Remark}}{\text{R}}: F|_{\partial H} : R \rightarrow \partial D = S^{1} \text{ is cartinuous, and}$$

$$F(x) = \frac{i-x}{i+x} = \frac{1-x^{2}}{i+x^{2}} + i \frac{2x}{i+x^{2}}$$

$$\text{urblich maps } R \text{ to } S^{1} \setminus 2^{-1} \text{ is } \frac{1-x^{2}}{i+x^{2}} + i \frac{2x}{i+x^{2}}$$

$$\frac{1}{2} + i \frac{2x}{i+x^{2}} + i \frac{2x}{i+x^{2}} + i \frac{2x}{i+x^{2}} + i \frac{2x}{i+x^{2}}$$

$$\frac{1}{2} + i \frac{2x}{i+x^{2}} + i$$

 $\frac{k_{0}}{k_{0}} = (i) \text{ ad} - bc \neq 0 \iff cz + d \neq k(az + b) \text{ oud } (az + b) \neq k(cz + d)$ $(Sa \text{ some } k \in G)$

$$\iff Z \mapsto \frac{aZ+b}{CZ+d}$$
 is not a constant map.
(ii) Some other authors call them linear fractional
transformations, or Möbius transformations.

1.2 Further examples

Note that translations and dilations are special cases of fractional linear transformations:

$$\frac{\text{trouslations}}{Z \vdash 7} = \frac{Z + f_1}{0 \cdot Z + 1} \quad \text{i.e.} \quad a = 1 = d, b = f_1, c = 0$$

$$\Rightarrow \quad ad - bc = 1 \neq 0.$$

Eq. l' (not in textbook)
(Complex) Inversion

$$z \mapsto \begin{cases} 0, z=\infty \\ \infty, z=0 \end{cases}$$

is conformal.

Note that Inversion is also a fractional luiear transformation

$$Z \mapsto \frac{1}{Z} = \frac{0.Z+1}{Z+0} \ll 0.0-1.1 = -1 \neq 0$$
.

$$f'(z) = \frac{ad-bc}{(cz+d)^2} \neq 0 \quad far \quad z \neq -\frac{d}{c}.$$

(we omit the discussion at $z = -\frac{d}{c}$ and $z = \infty$)

Also, clearly
$$g(w) = \frac{dw-b}{-cw+a}$$
 is the inverse of f
(Note: $z = -\frac{d}{c} \iff w = \infty$, $z = \infty \iff w = \frac{a}{c}$)

$$\therefore f is conformal (from $CU! \infty 5 \rightarrow CU! \infty 5)$$$

(2) If
$$f(z) = \frac{az+b}{cz+d}$$
, $ad-bc \neq 0$
 $g(z) = \frac{kz+l}{mz+n}$, $kn-lm \neq 0$

Then
$$fog(z) = \frac{a(\frac{kz+k}{Mz+n})+b}{C(\frac{kz+k}{Mz+n})+d} = \frac{(ak+bm)z+(al+bn)}{(ck+dm)z+(cl+dn)}$$

Note that $\binom{ak+bm}{ck+dm} = al+bn}{ck+dm} = \binom{a}{c} \binom{k}{m} \binom{k}{m}$
 $\therefore (ak+bm)(cl+dn) - (al+bm)(ck+dm)$
 $= det \binom{ak+bm}{ck+dm} = al+bn}{ck+dm}$
 $= det \binom{a}{c} \frac{b}{c} \frac{d}{c} \frac{d}{d} \frac{d}{m} \binom{k}{m}$
 $= (ad-bc)(kn-lm) \neq 0$
 $\therefore 5 \circ 5$ is a fractional linear transformation.
 $f(z) = \frac{az+b}{cz+d}$, $ad-bc \neq 0$

If C=0, then
$$d \neq 0$$
 8 $f(z) = \left(\frac{a}{d}\right) z + \left(\frac{b}{d}\right)$
i.e. $z \mapsto \left(\frac{a}{d}\right) z \longmapsto \left[\left(\frac{a}{d}\right) z\right] + \left(\frac{b}{d}\right) = f(z)$
dilation (a+0) $f(z) = f(z)$

If
$$C \neq 0$$
, then

$$f(z) = \frac{az+b}{cz+d} = \frac{1}{c} \cdot \frac{az+b}{z+d}$$

(3)

$$= \frac{1}{c} \left[\frac{a(z + \frac{d}{c}) - \frac{ad}{c} + b}{z + \frac{d}{c}} \right]$$

$$= \frac{1}{c} \left[a - \frac{\frac{ad}{c} - b}{z + \frac{d}{c}} \right]$$

$$= \frac{a}{c} - \frac{(ad - bc)}{c^{2}} \cdot \frac{1}{z + \frac{d}{c}}$$

$$ie. \quad z \mapsto z + \frac{d}{c} \implies \frac{1}{z + \frac{d}{c}} \mapsto -\frac{(ad - bc)}{c^{2}} \cdot \frac{1}{z + \frac{d}{c}}$$

$$\lim_{t \to auslation} \lim_{t \to auslation} \frac{1}{ausdation}$$

$$\mapsto \frac{a}{c} - \frac{ad - bc}{c^{2}} \cdot \frac{1}{z + \frac{d}{c}}$$

$$\lim_{t \to auslation} \frac{1}{z + \frac{d}{c}}$$

(4) Note that translations and dilations map straight lines
to straight lines, and circles to circles.
Then because of (3), we only need to prove (4) for
inversion
$$z \mapsto \frac{1}{z}$$
.

let
$$Z = X + iy \& W = S + it = \frac{1}{Z}$$

then
$$S+it = \frac{X}{X^2+y^2} - i \frac{g}{X^2+y^2}$$

ie.
$$S = \frac{x}{x^2 + yc}$$

 $f = -\frac{y}{x^2 + yc}$ (Inversion as a mapping from $R^2(10)$)
 $= R^2(10)$

Also
$$W \neq = (\Rightarrow) |W|^2 |z|^2 = (, \Rightarrow) \\ (ie. S^2 + t^2 = \frac{1}{x^2 + y^2}) \Rightarrow (y = \frac{-t}{s^2 + t^2})$$

Now lot L: ax+by+c=0 be a straight live

Then
$$\frac{as}{s^2+t^2} - \frac{bt}{s^2+t^2} + c = 0$$

is. $C(s^2+t^2)+as-bt=0$

If
$$C=0$$
 (i.e. L passing thro the aigin),
the image of L is the straight live
 $L' = as-bt = 0$ (in (s,t)-plane).
If $C \neq 0$ (i.e. L not passing thro the origin)
 \therefore the image of L is the circle
 $C' = s^2 + t^2 + (\frac{a}{2})s - \frac{b}{2}t = 0$ (in (s,t)-plane)

Now let
$$C = x^2 + y^2 + ax + by + c = 0$$
 be a circle.
Then we have $\frac{1}{s^2 + t} + \frac{as}{s^2 + t^2} - \frac{bt}{s^2 + t^2} + c = 0$
 $\Rightarrow C(s^2 + t^2) + as - bt + l = 0$.

If C=0, the mage of C is a straight line L': qs-bt+l=0

If $C \neq 0$, the mage of C is a circle $C' = s^{2} + x^{2} + (\frac{\alpha}{c})s - (\frac{b}{c})t + \frac{b}{c} = 0.$



By property (4) of fractional linear transformation, the real line segment between -1 × 1 maps to part of a strangent line or a circle. Since it passes throught f(-1)=0, $f(0)=1 \times f(1)=\infty$, it is the positive real axis.

Similarly, the upper cenir-circle neaps to part of

a straight line a a circle passing throught 0 and 00, and Rune must be a straight line. Since the angles from E1,1I to the semi-circle is ₹, the angle from the positive x-curic to the mage straight line of the semi-circle is also ₹ (f confinal) ... the image of the upper semi-circle is the positive y-axis. (Positivity can also be confirmed by $f(z) = \frac{1+i}{1-i} = 2$) This shows that $f(D^{\dagger}) = S$ (as fis conformal: Curics > Curics) (Of course, all there can be proved by using coordinates as in the Textbook)

 $\frac{Eg2}{6f \text{ He Textbook}}$ For $n=1,2,3,..., Z \mapsto Z^n: S \rightarrow H$ is confamal, where $S=\{z \in C: 0 < Ong(z) < \prod_{n=1}^{n} \}$ $\frac{1}{2 \mapsto Z^n}$

Inverse $w \mapsto w^{+} : |H \to S$

where $W^{\frac{1}{n}} = e^{\frac{1}{n} \log W}$ with $\log W = \text{principal branch}$





Eg4: ZI-> log Z branch defined by deleting {X<05 (i.e. -π<argZ<T) maps it confirmally to strip {w=utiv: D<v<π3.





